MH, WFES (EBRE
1.1 H’*—l-?f‘;’“% ASTM/SAE v 1.3 i—[—;‘i]‘g'r{\;’rf Imperial (Ibf, in, HP....) v
1.2 #HEFHEE B v 1.4 [ HVS.H v
15 HFHE 121 IF8H#. B2
1.6 ZFRHZ ASTM A228 ‘V 1.22 ITYEBEE
17 EAMEIE B | 68 oA
1.8 AL ) 1.23 FE&#FH
19 W EiH 2 [ 200 |
1.10 JHAI(ERE 250 [°F] 1.24 THE&REH
1.11 ATz i>|¢ 0.005 - 0.25 | [in] Rt ot | L \'| 1.00 |
1.12 Hirfdgpi s Ezo 29000 [ksi] 1.25 TiE=i
113 #EIEEBEL E 29000 [ksi] ER \'| 1.00 |
1.14 BIYIE= Gazo 11750 [ksi] 1.26 RELE
1.15 HEIEEBEL G 11750 [ksi] I [ 100
1.16 #HEL m 0.29 1.27 N zE® 2.00
1.17 HBE r 490 [Ib/ft~3]
1.18 ARRIUIIL Rm 190 [ksi]
1.19 J|ARAIFHR ) Sa 133 [ksi]
1.20 JARLIFE ) ta 95 [ksi]
2.0 [ el e iy
700 +— FfRVS.HE i Y=[b], X=[in] Z|
600 | —
500
d 400 | — ERT
Lo {l;[\ . %001 TAEB
O = 200 7
O 100 T
p D 0 : : : : : i
0 1 2 3 4 6 7
2.1 BFELSt THET RE
2.2 Ei'J\Iﬁ’FﬁVfE" F1 50.00 [Ib] 50.0474667 0.09%
2.3 BRI F8 250.00 | [lb] 249.952533 -0.02%
2.4 PFELT (e H| 2.0000 |[[in] 2.00047478 0.02%
25 Fﬁﬁmp ﬁrj;ir k| 100.00 | [Ib/in] -0.02% 2.9 B[
2.6 PFILP D| 30000 |fin] 2.99976265 -0.01% [p/d| 8
2.7 B d| 0.3750 | [in] 0.37502225 0.01%
2.8 HMEilEH n 10.76 10.7574463 -0.02%
2.10 f\%}ﬁﬂ
2.11 9@%734 D/d 8.00 2,14 JARSIEF F8ma| 308.6 [Ib]
2.12 P ﬁjg;r k 99.98 [lb/in]  2.15 ?ajc!rr:i‘rf[fw Hma| 2.587 [in]
2.13 w%ﬁg@ m 3.536 [Ib] 216 REZEH 2.47
2.17 %ﬁ*"ﬂ@ o
218 pEHHIL PF v 227 ITHEEHSH
2.19 EFRKRE Ls 4.785 [in] 1 8 9
2.20 HEFJFE IR 7.411 | 30 [in] Fi 50.0 250.0 617.2 [Ib]
221 BHPF A LO 12.3700 | [in] si| 0.5001 2.5006 6.1735 | [in]
2.22 HEEEER 0.9 | 1.8 | [in] Li | 11.8699 9.8694 6.1965 | [in]
2.23 TERZfE IS OB p 1.08 [in] if 7.7 38.48 95 [ksi
2.24 JFH % D/D,| 3.375 | 2.625 | [in]
2.25 s [ 122.5 [in]
2.26 ﬁpﬂﬂ//r <E! w8 26.05 [ft Ib]



3.0 S BmE A RS

700 — #Epvs.E i Y=[Ib], X=[in] v
600 — A
S 500 A
200 | —_—RE R
Lo 300 TAERE
L 200 A
100 4 IS
p 0 = \ \ \ =
0 1 2 3 4 5 6
3.1 FFEit “HEr fRE
3.2 B/IER F1 50.00 [b] 50.0497416 0.10%
3.3 mAIEH F8 | 250.00 | [lb] 249.950258 -0.02%
3.4 FET (=1 H| 2.0000 |[[in] 2.00049754 0.02%
3.5 Fﬁ%“%ﬂ@%ﬁ%ﬁﬁw k| 100.00 | [Ib/in] -0.02% 310 B
3.6 IR D| 3.0000 |f[in] 2.99975127 -0.01% [bm|2:2]om| 8
3.7 Bk b| 0.3750 | [in] » 0.375 0.01%
3.8 ) h| 0.3750 | [in] » 0.375 0.01%
3.9 HME s n 15.41 15.4061674 -0.02%
3.11 &;ﬂ}%
3.12 JiEEkd| D/b 8.00 3.15 A ITFE F8ma| 299.4 [Ib]
3.13 ap%*ﬁjz;r k 99.98 [lb/in]  3.16 %iﬁﬁf[f’li Hma|  2.495 [in]
3.14 JuFFIE m 6.282 [Ib] 3.17 RE&EEH 2.40
3.18 &t
319 PFHHE SIF M hd 3.28 IHEHSH
3.20 EfRLH Ls 6.5288 [in] 1 8 9
3.21 HEFFGUFE IR 9.154 | 30 [in] Fi 50.0 250.0 598.9 [Ib]
3.22 HHJF LR LO 17.3900 | [in] si | 0.5001 2.5006 5.9902 | [in]
3.23 HEEBEER 0.9 | 1.8 | [in] Li | 16.8899 14.8894 11.3998 | [in]
3.24 "Rk F IS OBy p 1.08 [in] t; 7.93 39.66 95 [ksi
3.25 FuFT9 D./D;| 3.375 | 2.625 | [in]
3.26 mkfgesic [ 167.14 [in]
3.27 ELIYECE w8 26.05 [ft Io]
4.0 [ [ Segipt e i
800 — FfhVS.Fxt i Y=[Ib], X=[in] Z|
700 A F
600
500 - —_—E
400
300 4 TAERf
200 - /
100 - —— [
o | | | | | | L]
0 1 2 3 4 5 6
4.1 PFsst st 4.10 iHET RE
4.2 BNTAESE F1 50.00 [Ib] 50.0441483 50.0495911 0.10%
43 AT F8 250.00 | [lb] 249.955852 249.954987 -0.02%
4.4 PEEEET H1 H| 2.0000 | I[in] 2.00044158 2.0005 0.02%
4.5 B/INFRIDLPIF ¥ Dmin| 3.5000 | [in] 3.49974245
4.6 BARHLPFR ¥ Dmax| 5.2500 [in] 5.24961367
47 FpEH e D 4.3750 [in] 4.11 mipf
48 it d| 04375 |[in] 0.43752415 Dyadenin] 15| Dyin/d | 8|
4.9 ﬁiﬁl’}éﬁ[ﬁ'if( n 6.18 6.17863582
4.12 fﬁ:ﬁ%
4.13 H/INESE Dpin/d 8.00 4.18 A ITEf F8max 285.6 | [Ib]
4.14 mKRREz: Dpmax/d 12.00 419 REEHX 2.29




4.15 83k Dimax/Diin 1.50 4.20 ZBIERAZSAY T [Hy
4.16 ZB[5FE) dx 0.107 [in] 4.21 JRF( Fo| 488.0 [Ib]
4.17 PFEE m 4.285 [Ib] 4.22 apl%.*ﬁjz;r ke| 99.98 [Ib/
4.23 &t
4.24 JuFYEHTET L e i v 433 THEAHPHESH
4.25 [ERLE Ls 3.4701 [in] 1 8 9
4.26 HEFFGFE LY 5.971 | 21.875 | [in] Fi 50.0 250.0 615.0 [Ib]
427 BHHPF LR LO 11.5800 | [in] si| 0.5001 2.5006 5.9227 | [in]
4.28 HEEIEETR 1.75 | 3.063 | [in] L | 11.0799 9.0794 5.6573 | [in]
429 TEZb I AT O p 1.75 [in] t; 8.32 41,58 95 [ksi
430 BRANE/ZNDNAE D./D;| 5.688 | 3.063 | [in] k; 99.98 99.98 149.41 | [Ib/
4.31 s I 114.52 [in]
4.32 PFLHYFCE w8 26.05 [ft Ib]
5.0 Y] s #im b St g
600 +— ##VS.Ee i Y=[Ib], X=[in] v
500 iy
4001 —
300 A
200 TAEE
100 4 / D—\A’]ﬁiﬁi*ﬁ
0 T T T T 1
0 1 2 3 5 6
5.1 FaigFEsst st 5.11 itET RE
5.2 RNIER F1 50.00 [Ib] 49.9973985 49.9992371 0.00%
5.3 EAIfE# F8 250.00 | [lb] 250.002602 250.002901 0.00%
5.4 Ju¥EElT (B H 2.0000 | [in] 1.99997398 2 0.00%
5.5 f/NRDEF ¥ Dmin | 3.5726 | [in] 3.57261549
5.6 RAPDLRFPF Dmax| 5-3589 [in] 5.35892324
5.7 J¥HIwf ¥ D 4.4658 [in] 512 &R
5.8 il b| 04375 |[in] 0.43749858 Dax/min| 1.5
5.9 h| 04375 |][in] 0.43749858 Dyin/b 8
5.10 AL n 8.32 8.32010822 b/h 1:1
5.13 fﬁlj‘[ﬁﬁ#
5.14 /ML Dpin/b 8.17 5.19 JASLITE F8max 277.1 | [Ib]
5.15 HKfEs:t Dma/b|  12.25 520 R&EX 2.22
5.16 % Dimax/Drmin 1.50 5.21 SIEHTNESpy T [Hy g
5.17 ZBpsiEnh dx | 0.0865 | [in] 5.22 A Fe| 675.0 [Ib]
5.18 Ju¥FIEl m 7.229 [Ib] 5.23 3@%.}%( ke| 100.00 | [lb/
5.24 &5 o
5.25 ﬁpﬁfﬁjﬁmﬁ PF R v 5.34 I{EE#sH
5.26 ERKE Ls 4.515 [in] 1 8 9
5.27 HEFJUFE I 7.015 | 22.329 | [in] Fi 50.0 250.0 554.2 [Ib]
5.28 BHJpIFKAE LO 15.7300 | [in] Si 0.5 2.5 5.5422 | [in]
5.29 HEFIEEEH 1.786 | 3.126 | [in] L 15.23 13.23 10.1878 | [in]
5.30 @f;ﬁbglplﬁc;;gmggﬁ] p 1.785 [in] t; 8.57 42.85 95 [ksi
531 EANE/&/NAE D./D;| 5.796 | 3.135 | [in] ki | 100.00 100.00 100.00 | [lb/
5.32 mifgss i I 147.48 [in]
5.33 JFHLIYFCE w8 26.04 [ft Ib]
6.0 [ mjmgusy
800 AfevS.ge iz Y=[Ib], X=[in] v
lF 700 } — RS
. 600
— 500
400 / T A
300




L0 f‘ = * — f‘ 300 /
De 200 .
looi —_—
0 T T ' Y T 1
0 0.05 0.1 0.15 0.2 0.25 0.3
6.1 FuFILT kit 6.13 itEr fRE
6.2 /NI AEFf F1| 100.00 | [ib] 114 111.949424 11.95%
6.3 AL F8 | 500.00 | [lb] 495 494.52273 -1.10%
6.4 JFEHT (EE ) H| 0.1250 |[[in] 0.1279 0.12767021 2.14%
6.5 RAAITLIYH s8/sg 075 v
6.6 TITERAEIEE n 1 1 6.14 WFHFE 8
6.7 AR i 4 4 2.250 x 0.755 x 0.068 x 0.137 ‘v’%
6.8 5% De | 2.2500 | [in] 6.15 EERPF
6.9 ME Di| 0.7550 | [in] DH %] | Mmax | e
6.10 MHEE t| 0.0680 |[in] -5 v\+5\v\3 \v\s v
6.11 HAEE h| 0.1370 | [in]
6.12 BARESEE ho | 0.0690 | [in]
6.16 R 6.29 BBERY (FESF)
6.17 % De/Di| 2.98 6.30 R&T ] Seal 285 |
6.18 BRAEMY ho/t 1.01 6.31 JK'F ) Sp8| 223.63 | [ksi
6.19 ALY Ss 0.276 [in] 6.32 mAHLA s8] 87.38 [ksi
6.20 AL HE s8/sg 0.54 6.33 HERLEH 1.00
6.21 § 7 [AEERCE Fs 689.3 [Ib] 6.34 REZEH 1.27
6.22 JRARRE[IFA F8mnax| 587.9 [Ib] 6.35 TERHEH
6.23 LifI m 0.272 [Ib] 1 8 9
6.24 &itif h R 100.0 500.0 587.9 [Ib]
6.25 plE 4 LIE s | 0.0209 0.1486 0.1987 | [in]
6.26 HHpF IR LO 0.55 [in] K L | 05271 0.3994 0.3493 | [in]
6.27 3 it Ls 0.27 [in] )y S| 35.23 223.63 285 [ksi
6.28 JFLIYHCEI w8 3.561 [ft Io] itk 5 ki | 4507.11 2034.07 1514.39 | [Ib/
7.0 U] e (i
Jﬂ, Lk d 800 — FfhVS.Fx i Y=[Ib], X=[in] Z|
~ = m —
. ﬁ\«» 500 |
Lo S R 400 4 —RE R
D 300 A
g 100 +
0 - T T T T T T 1
0 1 2 3 4 5 6 7
7.1 JUFRpY) WAL A v
7.2 GBSt
7.3 #HLA FO 49 [Ib] HET RE
7.4 B/NIEFET F1 50.00 [Ib] 50.0482101 0.10%
7.5 EARI{E# F8 250.00 | [lb] 249.95179 -0.02%
7.6 JpEET (R H 2.0000 | [in] 2.00048222 0.02%
7.7 Fﬁ%ﬂ@ﬂ,ﬂi%ﬁﬁﬁ;@ k| 100.00 | [Ib/in] -0.02% 711 BR(
7.8 PFELP D| 27000 |fin] 2.69978304 -0.01% [p/d| 7.2
7.9 I d| 0.3750 | [in] 0.3750226 0.01%
7.10 ABEA n 14.76 14.7564421 -0.02%
7.12 ;rg_-‘ﬁ%
7.13 JRFHI| D/d 7.20 7.16 ARSI F8max| 340.7 [Ib]
7.14 ﬁpﬁmgy k 99.98 [Ib/in]  7.17 Esijtfrtiff[f’li Hmax|  2.907 [in]
715 EE(FEFRAQ) m 3.994 [Ib] 7.18 REFX 2.73
7.19 Bt




7.20 PEHHLE 2E v 7.31 TeEHSH
721 HEREPIFL LY 1.86 | 2.558 | [in] 1 8 9
7.22 PR L 2.3250 | [in] Fi 50.0 250.0 681.3 [Ib]
7.23 HEFEEIRT ) 10.56 | 21.11 | [ksi] si 0.01 2.0105 6.3248 | [in]
7.24 @) to 6.83 [ksi] 5 10.57 12.5705 16.8848 | [in]
7.25 BHpFIE LO 10.5600 [in] t; 6.97 34.86 95 [ksi
7.26 HELE L 5.91 [in]
7.27 "R IS OB p 0.375 [in]
7.28 PIFT I F D./D;| 3.075 | 2.325 | [in]
7.29 BT IU% (TA,JFEJ) I 127.53 [in]
7.30 JHFLIHE w8 25.05 [ft Io]
8.0 [ SEmmp bty iy
_Jﬂ, Lk h b 700 — FfRVS.HE i Y=[b], X=[in] Z|
iy H\»ﬂ« 600 — R
=11 5001
|_ 0 S Ll 1] 200 —[RE R
0 T T T T 1
L 0 1 2 4 5 6 7
8.1 gLt T Rz
8.2 HB/NIfEaH F1 50.00 [Ib] 50.0497416 0.10%
8.3 EAIfE#fw F8 250.00 | [lb] 249.950258 -0.02%
8.4 JFEY” (BT H| 2.0000 |[[in] 2.00049754 0.02%
8.5 Fﬁﬁ-ﬁm‘m ﬁ k[ 100.00 | [Ib/in] -0.02% 8.10 B
8.6 PFILR ¥ D| 30000 |fin] 2.99975127 -0.01% [b/n] 1:1] D/ |
8.7 il b| 0.3750 | [in] » 0.375 0.01%
8.8 iy h| 0.3750 |I[in] » 0.375 0.01%
8.9 AMEilg'H n 15.41 15.4061674 -0.02%
8.11 f\%}ﬁﬂ
8.12 ﬁﬁl%ﬁsd D/b 8.00 8.15 AL ITF F8max|  299.4 [Ib]
8.13 P ﬁj;‘r k 99.98 [lb/in]  8.16 Esijif[‘.iff[f’ﬁ Hrnax|  2.495 [in]
8.14 E%(?Ff—:-k’@) m 5.899 [Ib] 8.17 R&EH 2.40
8.18 %ﬁ*"ﬂ@ o
8.19 E"F"f Lt Hith v 8.29 TeEHEH
8.20 | 1 8 9
8.21 Jd {2t L 3.0000 ||Z| [in] F 50.0 250.0 598.9 [Ib]
8.22 HEFFJUFE IR 12.461 | 24.867 | [in] si| 0.5001 2.5006 5.9902 | [in]
8.23 BHJIF KA LO 15.6200 | [in] L | 16.1201 18.1206 21.6102 | [in]
8.24 HHEK®E [ 9.62 [in] t; 7.93 39.66 95 [ksi
8.25 &';ﬁbg’lghﬁ[(j}ﬂ‘;?ﬁﬁ p 0.5999 [in]
8.26 FF % D/D,| 3.375 | 2.625 | [in]
8.27 B LU (TA,JF:«J) I 147.94 [in]
8.28 JFLIYHIEI w8 26.05 [ft Ib]
9.0 I B
b 10 +—— AfVS. g Y=[Ib ft], X=[°] v
2, —_—
7]
6 —_—RE
5 ]
41 TARFf
3]
2] —— R
s | | | | gl
0 100 200 300 400 500 600




9.1 gLt THET fRE
9.2 B/NIEH M1 0.750 [b ft] 0.74920635 -0.11%
9.3 EAIfE# M8 4.000 [Ib ft] 4.00079365 0.02%
9.4 TR (B ay 180.0 [°] 179.956055 -0.02% 9.11 Hfpf*
9.5 Fﬁ%ﬁ‘]ﬁ‘ﬂj%ﬁﬁfjﬁ k| 0.2167 | [lbin/°] 0.02% b/t |
9.6 SEFEZE Re 2.0000 | [in] 2.0006105 0.03%
9.7 miﬁ% Ri| 05000 |[in] 0.5006105 0.12% | Rrin | |
9.8 JF T b| 0.8000 | [in] 0.79980469 -0.02%
9.9 ﬁpg.[ fg@ t| 0.0800 |fin] 0.07999349 -0.01% | a0 | |
9.10 AME s no 10.15 10.1524786 0.02%
9.12 %}%
9.13 % a0 | 0.0678 9.16 |ASL I M8a|  4.379 [Ib
9.14 L JuF R k| 02167 |[bin/°] 9.17 a%jcfrtiff[;f**lj Qumax|  200.9 [°]1
9.15 Ju¥FIEl m 1.447 [Ib] 9.18 R&ZFX 2.19
9.19 iBiffd 9.26 IT{EEISH
9.20 #RfEA do 306.0 [°1 1 8 9
9.21 TR4BEE" as 890.9 [°]1 HhEE M 0.750 4.000 8.757 [Ib
9.22 s Ng 12.62 B n 10.27 10.77 11.50
9.23 EBX KA L 79.72 [in] LTE a 41.5 221.5 484.9 [°1
9.24 FpH a8 | 0.0461 | [in] A d 264.5 84.5 - [°1
9.25 JFLIYFIEI w8 7.73 [ft Ib] s, 11.39 60.75 133 [ksi
10.0 [ itk g
10 — AfVS. g i Y=[Ib ft], X=[°] v
Lk 9 o
D 3: AR
61
5 —[REH
4]
3]
21 TAE#
14
0+ ; : i
0 50 100 150 200
10.1 FuFTilit aeal RZE
10.2 F/NIAEF M1 0.500 [Ib ft] 0.50106903 0.21%
10.3 JAIfEA M8 4.000 [Ib ft] 3.99893097 -0.03%
104 FFER (25 ay 60.0 [°] 60.0183319 0.03%
10.5 FRRAgGRF THiE k 0.7 [Ib in/°] -0.03% 109 BB
10.6 Lo i D| 16560 |[in] 1.6554942 -0.03% [o/d| 8
10.7 ¥ d| 02070 |[I[in] 0.20701581 0.01%
10.8 AHE L5 n 12.53 12.5261729 -0.03%
10.10 #_—g}mﬁ#
10.11 apf*w D/d 8.00 10.14 TR EEf M8na|  4.359 [Ib
10.12 W HIFH k| 06998 |[lbin/°] 10.15 &AFeiw i Qumax|  66.2 [°]
10.13 FFEIE m 0.634 [b] 10.16 R&EHH 2.18
10.17 &t
10.18  Jpatitt TR v 1027 IER#EH
10.19 RhEFH do 169.2 [°1 1 8 9
10.20 HEFGF LA YR 2.941 | 7.988 |[in] M| 0.500 4.000 8.717 | [lb
1021 B L 2.9400 | [in] a 8.6 68.6 149.5 [°]
10.22 "R F IS OB p 0.2181 [in] d 160.6 100.6 - [°]
10.23  JuFH I D./D;| 1.863 | 1.449 | [in] S 7.63 61.03 133 [ksi
10.24 BT 1% | 66.4 [in]
10.25 Tk L8/D8| 2.94 | 1.424 | [in]
10.26 JFLHHoEI ws 2.39 [ft Ib]
11.0 U SERmE B iR b s

Lk

9 —— HVS 5L

i Y=[Ib ft], X=[°]

)



Y 7 FHEVO4E Y . Y= I, A= ] v
Lk s
71 A
P b 8
5 ] .
4 —[RE
3]
D 2] TR
0 == ‘ . |
0 50 100 150
11.1 FuFmilit peal Rz
11.2 JPIERf M1 0.500 [Ib ft] 0.50105258 0.21%
11.3 JmAIE#ET M8 4.000 [Ib ft] 3.99894742 -0.03%
114 e (e ay 60.0 ] 60.0180496 0.03%
11.5 PFrRRIGpET Id k 0.7 [Ib in/°] -0.03% 1110 B
116 PFH Lo D| 1.0000 |fin] 0.99969926 -0.03% lon| 8 o] 25 |
11.7 3B b| 0.3125 | [in] 0.31259401 0.03%
11.8 2% t| 0.1250 | [in] 0.12501253 0.01%
11.9 HM+ s n 11.71 11.7064784 -0.03%
11.11 #jﬂ}#’?‘ﬁ
11.12 aplwd D/t 8.00 11.15 mARIFE M8, 4.118 [Ib
11.13 T k| 0.6998 |[lbin/°] 11.16 a‘%x:‘ti’rﬁ[fflf Qpimax 62 ]
11.14 JFEE m 0.415 [Ib] 11.17 REEH 2.06
11.18 it
1119 Lt TSR v 11.28 TERASH
11.20 ZEhEH do 104.4 [°1 1 8 9
11.21 HEFRFLAB T 4.17 | 6.168 | [in] M; 0.500 4.000 8.235 [Ib
11.22 HEK% [ 4.1700 | [in] a 8.6 68.6 141.2 ]
11.23 LS IS OB p 0.3294 [in] d 95.8 35.8 - ]
11.24 JFH 9 D./D;| 1.125 | 0.875 | [in] S, 8.07 64.6 133 [ksi
11.25 BT L I 37.47 [in]
11.26 ITfEka L8/D8| 4.17 | 0.859 | [in]
11.27 HFLHHEE w8 2.39 [ft Ib]
12.0 [ s s
40 AERVSEE i Y=[Ib ft], X=[°] Z|
% A
| 30 4
25
d 20 4 R
15 4
10 4
L 5 ] TR
0 T T T T T 1
0 5 10 15 20 25 30
12.1 st TLET RE
12.2 &I AEE M1 0.500 [Ib ft] 0.49998582 0.00%
12.3 mRIfEalfe M8 15.000 | [lb ft] 15.0000142 0.00%
12.4 8T (BT ay 10.0 1 9.99999022 0.00%
12.5 FrEAgfET [d k 17.4 [Ib in/°] 0.00% 12.8 B
12.6 BMKE 7.2451 [in] 7.24510709 0.00%
12.7 HITERE 0.2813 | [in] 0.28129993 0.00%
12.9 ;}ﬁrﬁvﬂ 12.16 ITEEESH
12.10 Hp%ﬁr k 17.4 [Ib in/°] 1 8 9
12.11 JFEE m 0.128 [Ib] hE M 0.500 15.000 34.600 |[lb-
12.12 B BRI w8 1.35 [ft Ib] BIYE a 0.3 10.3 23.9 1
12.13 mKf i M8max| 17.300 [Ib ft] "ol g 1.37 41.18 95 [ksi
12.14 a‘%jc,’rtiff[f*w Ahimax 11.6 [°]1



12.15 REZHH 2.31
13.0 U SEpEmmeps
35 AERVSEE i Y=[Ib ft], X=[°] Z|
301 AT
t 2L 7 21 —E
i 4 15 4
/M 10
L b 5 | TAEET
0 T T T T 1
0 5 10 15 20 25
13.1 st TEET RE
13.2 &/MIAfEaf M1 0.500 [Ib ft] 0.4999284 -0.01%
13.3 EmARIfEalfe M8 15.000 | [lb ft] 15.0000716 0.00%
13.4 R (EF ay 10.0 [°1 9.99995062 0.00%
13.5 FrEAgfET [d g k 17.4 [Ib in/°] 0.00% 13.9 B
13.6 BHLA L| 77667 | fin] 7.76673835 0.00% ™ 3
13.7 RATE b 0.5100 | [in] » 0.51 0.00%
13.8 HITEE t{ 0.1700 | [in] » 0.17 0.00%
13.10 ;}ﬁrﬁﬂ 13.17 T¥EEHSH
13.11 Hp%ﬁr k| 17.4001 | [lbin/°] 1 8 9
13.12 JuFIEl m 0.191 [Ib] HE M 0.500 15.000 31.155 |[lb-
13.13 JuFLHHE w8 1.35 [ft Ib] LTE a 0.3 10.3 21.5 [°1
13.14 \mKA i M8max| 15.577 [Ib ft] ;s g 1.52 45.74 95 [ksi
13.15 a‘%jc!rtiff[f*w Ahimax 10.4 [°]1
13.16 RE%HH 2.08
14.0 U EEgE A
t F S 600 — FfPVS.5L i Y=[Ib], X=[in] v
| 500 - — LT
400
300 —[RE
ﬁb 1 bl 200 A
“_ 100 | Liemf
0 0.5 1 1.5 2
14.1 i 'itﬁ}ﬂ
14.2  FpEFLR
14.3 T ThET Rz
14.4 BNTAEF F1 25.00 [Ib] 25.0010755 0.00%
145 JHARIfERAf F8 | 250.00 | [lb] 249.998924 0.00%
14.6 F¥EsyT (e H| 0.7500 | [in] 0.75000359 0.00%
14.7 Fﬁﬁﬁﬁ’ﬂﬁi W’F k| 300.00 | [lb/in] 0.00% 1412 B
148 HHLB L| 17.4203 |Tin] 17.4202722 0.00% [up] 10
14.9 AT L b| 1.7500 | [in] 1.75000837 0.00%
14.10 E#pE b'| 1.7500 | [in] 1.75000837 0.00%
14.11 RpFES t| 0.5000 [ [in] 0.5000008 0.00%
14.13 fehEH 14.20 THEABEH
1414 PEHGe k| 300.00 | rin] 1 8 9
14.15 JuFFIE m 4.322 [Ib] hF 25.0 250.0 556.7 [Ib]
14.16 JpFLIHE w8 8.68 [ft Io] LE s | 0.0833 0.8333 1.8557 | [in]
14.17 JRAEE( F8max| 278.4 [b] s s; 5.97 59.73 133 [ksi
14.18 a‘%x:‘tiﬁfﬁ[f’w Hrax|  0.845 [in]
1419 REERN 2.23

(]




15.0 PSR T

600 — VS F i Y=[Ib], X=[in] v
t LF L 500 | — AT
400 A
300 - —E
L 200 4
100 | TR
b
0 = T T 1
0 0.5 1 1.5 2
15.1 R RFR G [J Parabolic profile with thickened leaf
152 FuFrisit T {F:
15.3 RNTEE F1 25.00 [b] 24.997888 -0.01%
15.4 mAIEF F8 | 250.00 | [lb] 250.002112 0.00%
15,5 JFELH" (=F ) H[ 0.7500 | I[in] 0.74999296 0.00%
15.6 FﬁmE’JE},ﬁJ THiE k| 300.00 | [lb/in] 0.00% 1512 B
15.7 H®KIE L| 123595 |Tin] 12.3595387 0.00% [Lp) 10
15.8 EEFRTAVLE L'| 0.0000 | [in] 0 0.00%
15.9 Fopid i b| 1.2500 | [in] 1.24998827 0.00%
15.10 KR t| 05000 | [in] 0.49999844 0.00%
1511 E#EE t' | 0.0000 |[in] 0 0.00%
15.13 & 15.20 THRAPSHK
1514 E G k| 300.00 | rin] 1 8 9
15.15 RiFEIE m 1.460 [b] h R 25.0 250.0 560.5 | [Ib]
15.16 ¥ LIkl w8 8.68 [ft Ib] wRE s [ 0.0833 0.8333 1.8682 | [in]
15.17 mARAIFE( F8max|  280.2 [b] ") s, 5.93 59.33 133 [ksi
15.18 ARSI Hma|  0.851 [in]
15.19 RE&%EH 2.24
16.0 [ Sigguisy
1200 — #feVS. 52 i Y=[Ib], X=[in] Z|
— ——— 1000 A BRF
t T — S | oo |
F 600 -| R
400 1
b 200 e
L 0 ; ; ' ' ' |
0 0.2 0.4 0.6 0.8 1 1.2
16.1  Hfpse =R
16.2 BhiFEST g RE
16.3 m/IMIfEalf F1 25.00 [Ib] 25.0038749 0.02%
16.4 ERARIfE#lfe F8 500.00 | [lb] 499.996125 0.00%
16.5 Fuavesy” (e ) H| 0.5000 |I[in] 0.50000408 0.00%
16.6 FrEANGHE iR k| 950.00 | [Ib/in] 0.00%
16.7 foHATH Sk n' 0 16.12 H(p{*
168 piH 3 n 5 [in] 5.00 0.00% [n|5|un] 10 |
16.9 HMKE L| 12.4777 | [in] 12.4776661 0.00%
16.10 Fguaic b| 1.2500 | [in] 1.2500102 0.00%
16.11 FpFER t| 0.1563 | [in] 0.15630043 0.00%
16.13 ;}ﬁrﬁvﬂ 16.20 TEEHSH
16.14 ﬁ ;;r k| 949.99 | [Ib/in] 1 8 9
16.15 9p TEIE m 1.728 [Ib] h F 25.0 500.0 1085.0 | [lb]
16.16 ¥ B IYHEl w8 10.96 [ft Ib] LE s [ 0.0263 0.5263 1.1421 | [in]
16.17 wmKL F8nax| 542.5 [Ib] W) s, 3.06 61.29 133 [ksi







